<<Requirement>>
MachinelControl

Q

ID=1
Text="The software shall control machine 1

so that it picks a plate and place it on the conveyor
belt if the spot in front of the machine is empty."
Kind="Functional"
Risk="Low"
Reference elements=

<<Requirement>>
MachinelPlierControl

&

ID=2

Text="The software shall control
machine 1's plier."
Kind="Functional"
Risk="Low"
Reference elements=
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<<Requirement>>
MachinelProprioceptiveSensors

Q

<<Requirement>>
ControllerSoftware

L

ID=0

Text="The software shall control the three machines and the
conveyor belt so that they automatically pack salmon filets."
Kind="Functional"

Risk="Low"

Reference elements=""

<<Requirement>> qE

<<Requirement>>
Machine2Control

&

ID=7

Text="The software shall control machine 2

so that it picks a filet and place it on the conveyor
belt if the spot in front of the machine is filled with
an empty plate."

Kind="Functional"

<<Requirement>>
MachinelEmptyBeltDetection

&

ID=3

Text="The software shall detect if a
plate is already in front of the
machine."

Kind="Functional"

Risk="Low"

Reference elements=""

ID=4
Text="The software shall read machine 1's
proprioceptive sensors data."
Kind="Functional"
Risk="Low"
Reference elements=
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MachinelActuators
ID=5

Text="The software shall control
machine 1's actuators."
Kind="Functional"
Risk="Low"
Reference elements=

<<Requirement>>
MachinelPresenceSensor

L
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ConveyorBeltActuators
ID=20
<<Requirement>> Text="The system shall ccl)lntrol
ConveyorBeltControl % %ﬁ;g@’fg&irokﬁg}f motor.
ID=19 RiSk="LOW“

Text="The software shall control the conveyor belt
so that it carries the plates to the next machines
once all the machines have finished their cycle."

Reference elements=

Kind="Safety" D
Risk="Low" [
Reference elements="" <<R%qe;g§rr?a?;sti:> qE

ID=21
Text="The system shall keep a record of
the state of each machine to decide
when to move the conveyor belt."
Kind="Safety"
Risk="Low"
Reference elements=

<<Requirement>>
Machine3Control

L

ID=13

a plate, and puts it in the tray."

Text="The software shall control machine 3
so that it picks a packed plate from the conveyor
belt if the spot in front of the machine is filled with

ID=6

Text="The software shall read
machine 1's presence sensor data.
Kind="Functional"

Risk="Low"

Reference elements=""

<<Requirement>>

Machine2ProprioceptiveSensors

ID=10

Text="The software shall read machine 1's

proprioceptive sensors data."
Kind="Functional"
Risk="Low"
Reference elements=

Risk="Low"
<<Requirement>> qg <<Requirement>> Q§
Machine2PlierControl Machine2BeltDetection
D=8 ID=9
Text="The software shall control Text="The software shall detect if a
machine 2's plier." plate is in front of the machine
Kind="Functional" and if it is empty."
Risk="Low" Kind="Functional"
Reference elements="" Risk="Low"
Reference elements=""
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Machine2Actuators Machine2PresenceSensor
ID=11 ID=12

Text="The software shall control
machine 2's actuators."
Kind="Functional"

Risk="Low"

Reference elements=""

Text="The software shall read
machine 2's presence sensor data."
Kind="Functional"
Risk="Low"
Reference elements=

Kind="Functional"

Risk="Low"
<<Requirement>> Q§ <<Requirement>> qE
Machine3PressControl Machine3BeltDetection
ID=14 ID=15
Text="The software shall control Text="The software shall detect if a
machine 3's press." plate is in front of the machine."
Kind="Functional" Kind="Functional"
Risk="Low" Risk="Low"
Reference elements="" Reference elements=""
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Machine3ProprioceptiveSensors Machine3Actuators e e T |
ID=16 ID=17 ID=18

Text="The software shall read machine 3's
proprioceptive sensors data."
Kind="Functional"
Risk="Low"
Reference elements=

Text="The software shall control
machine 3's actuators."
Kind="Functional"

Risk="Low"

Reference elements=""

Text="The software shall read
machine 3's presence sensor data."
Kind="Functional"
Risk="Low"
Reference elements=




